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Topic:- Child Development & Pedagogy (CDP)

1) As a teacher, what type of strategy you will follow in an inclusive classroom? / Tdh Rrge

& FTUH, 3T TH AR H&T H 5T UPR P 0 BT U B2
1. All the above / B’qgaﬁﬂlﬁ

2. Only Peer tutoring / G WQT&‘I'UT

3. Only Cooperative learning / PHad ebRI fR1er

4, Only Collaborative learning /had JedN TS TR&M

Correct Answer :-

+ All the above / w;laamﬁ

2) A person with capacities to respond appropriately to the moods, temperaments,
motivations, and desires of other people have good intelligence. / 'FIT'ﬁE'Q'ITGﬁ,

T, YoM 3% 3= AN 1 s=o13il R Ifa ufaferar 31 &Y emar ara safaa &
3T WU BT 2|

1. Intrapersonal / faRIdafaas
2. Interpersonal / fadafaas

3. Naturalist / Wﬁﬁﬂa
4. Spatial / RITH®

Correct Answer :-

. Interpersonal / 3fAdgfaIH

3) What type of learner is a child who learns best by taking notes during class and reading

them aloud before a test? /WWWWWﬁT&ﬂ?ﬁﬁ,ﬁﬁﬁT%aﬂqmw
IR RIS I Ugd S W H UgH dga) JIEdi 82



1. Reading/writing learner / oH/eia fRigndi@a are)
2. Visual learner / €0 fRremaff

3. Cognitive learner / ITATHD fRremeff

4, Descriptive learner / guirees fRremeff

Correct Answer :-

 Reading/writing learner / U&-/era fRref ?ﬁ@"@ﬁ drell)

4) What type of parenting style is characterized by giving no rules or structure to children? /

gﬁﬁaﬁaﬁéﬁmnmmq%ﬁﬁmwﬁmmﬁiﬁaﬁﬁﬁwmm

1. Enmeshed / 3T 31T

2. Permissive / &lﬂjﬂw

3. Authoritative / 3TEIDHTRSD
4. Authoritarian / 3{fIHRATG]!

Correct Answer :-

« Permissive / Hﬂﬁw

5) What phenomenon is experienced when one knows a person’s name but cannot remember

it in the moment? / T3} TafaRT BT ATH UdT 81 AfPB depTal UTS AT A TR fby geAT BT
3T a1 82

1. Tip-of-the-tongue phenomenon / feu-sifm -?.‘{-_a"‘T Yl
2. Recognition error / HI-dI _ari%

3. Forgetting / H{cI-T
4. Retrieval cue / Wﬁ Tobd

Correct Answer :-

« Tip-of-the-tongue phenomenon / %q-aﬁtﬁ-‘c:-ﬁﬁ gl

6) What theory focuses on the degree to which new information is mentally analysed? / P

1 RIgid 39 R A Higd ®a1 & fF 75 swHeR) &1 fod g 99 aqfe +u 3
fazayor frar wirar 82

1. Information processing theory / {j\dﬂl-ulra?mwwl Rigid

2. Relational analytical theory / SEHUR® [IReIUNTAS Rigid




3. Levels of processing theory / UfehTTNHRUT RIgid & &R

4, Deep level processing theory / ‘IG\Q TR BT Uleharen ol Rigid

Correct Answer :-

« Levels of processing theory / i aThR Ul RIGid o TR

7) Impulsivity is a characteristic of the following disorder. / ST (ETEIF\‘T%E)
fFafafed foer o ve faRuar 21

1. Eating Disorder / T [dhR
2. Attention Deficit Hyperactivity Disorder/ ¥ 3HId gigdr fasR
3. Learning Disorder / ST fdpR

4. Post-traumatic Stress Disorder/ UY ST d-1d f[dpR

Correct Answer :-

« Attention Deficit Hyperactivity Disorder/ &l 3{HId Hichgdl fabR

8) Who among the following is not a learning theorist? / IREINICEE: K| TH 3R
Rrsiaer 781 32

1. E.L. Thorndike / USdS U YHSI8dH

2. E. Erikson / 'Ef Eﬁﬂﬂ:{

3. B.F. Skinner / Eﬂwm
4. Ivan Pavlov / 3a9 UTdclid

Correct Answer :-

« E. Erikson /3. U&=

9) According to Vygotsky, adults can help a child learn by building upon their knowledge
with new knowledge using techniques. / als'lﬁ?\qﬁ & SR, dIIH GEICa
BT YN HIP ¢ JTH & 1Y YA JH BT A0 $3P T 9= B W@ A g Y
q&d gl

1. Scaffolding / TPTH I

2. Psychological / EEICRIEES

3. Proximal development / THITR fdhT

4, Ethological / sthaﬁ?ﬂw



Correct Answer :-

« Scaffolding / THTHWHITCET

10) According to Jerome Bruner, representation involves encoding action based
information and storing it in our memory / ﬁﬁ’q % Uﬁﬁlﬁrﬁ |
mwmmmmm%ms@mmﬁmmm

1. Iconic / CfdeTRI®
2. Figurative / N REAIRED

3. Enactive / E’q@a
4, Symbolic / UdibTdS

Correct Answer :-

« Figurative / N REAIRC

11) Principle of ‘zero rejection’ means — / ‘X[ SRAIHTd BT Rigiar &1 3 g -

1. no child with disability will be denied opportunity to education. / fodt +ff fdaaiT o= @I Riem & saaR
dfaa T8t foear Sa|

2. no child with disability will be discriminated upon. /forat H} fGeaRT S & Y HgHTa gl
forar smam|

3. no child with disability will be given admission. / Tt 4t faaai o= &1 gdwr =& faar smem|

4. no child with disability can be served in regular school setting. / et 4t e 9= &1 Fafid
e gem # 8 foar S g g1

Correct Answer :-

« no child with disability will be denied opportunity to education. / ot ot faaaiT I Bl FRI&1 & TR I
dferd gt fosar S|

12) The Big five personality traits is also known as / H@' uTa fdde AT B
& I Wt ST oA @

1. BROOK scale / W@Tﬂ

2. RIVER scale / aR ¥hd

3. OCEAN scale / 3R hdl
4. CANOI scale / ﬁg @W‘T

Correct Answer :-



« OCEAN scale / HIRIA ¥hd

13) The famous psychologist who established the study of genetic epistemology which
explains the process of how people develop cognitively from birth throughout their lives is: /

9% WIS TAaTe e Srgafie JM-usia R & Srede 3t RITAT Y, o 59
ufspar o1 sarE Hd1 ¢ & f5a yer aafet siias = o1 @ |S3HEe U d
fasfasd e ae:

1. Arnold Gesell / 3feg T¥d

2. BF Skinner / it T RBR

3. Howard Gardner / aalé MR
4, Jean Piaget / S foarst

Correct Answer :-

« Jean Piaget / ST foarst

14) The cells in the body that conduct information to and from the brain are: / IR

FIRPIY ol AfRTP | 3R ST T ISR BT Tura- Hedl €, = g &
1. Reproductive cells / TSI DIRBTY

2. Muscle cells / ATGURNI HIfRIBTY

3. Nerve cells / AT DIRIBTY

4. Blood cells / 3ad PIRIBTY

Correct Answer :-

» Nerve cells / GIECA m

15) Assuming another person’s perspective is known as: / o3t org safea & =R T At
TGV IRATG:

1. Role strain / Yf¥eT a1 (I W)

2. Role making / 49T fAHf0r Rier Afde)
3. Role distance / Y[H®T g3 (I f$%9)
4. Role taking / YfHHT T (U i)

Correct Answer :-

« Role taking / '{&lﬁa:ﬂ (ﬁﬁ éﬁv_‘T)



16) Which sense takes the longest to develop? / T Tdg- oI fa@mfd g1 o sifUeway
THY AT 82

1. Smell / g

2. Hearing / Hoddl
3. Taste / ¥q

4. Vision / ¥

Correct Answer :-

e Vision/ %’f@

17) Which of the following is the final stage of reasoning in post-conventional morality

according to Kohlberg? / FufafRada s Plgadt| & IR SR-ATHEITA
Afaear & ad 31 sifaw wor g2

1. Morality of universal ethical principles / rdafed Afaed J-CLQ'Q‘I\I' Dt Afdesd

2. Morality of contract / ﬂﬂgﬁa ARG
3. Orientation toward punishment and obedience / GUS 3R ST Bt 3R Sl

4. Social concern and conscience / TSI H'@'Ij‘-ﬂ?f 3R faa®

Correct Answer :-

« Morality of universal ethical principles / qraaiied Afde lj\c'q\l. AR IRE)

18) Grade Acceleration is recommended for educating the children. / I DI

Riféra o & e U @vor 3t Ry 5t st 81
1. Normal / GTRU]

2. Disadvantaged / dfad

3. Gifted / UfAHTRITS!

4. Backward / {USS

Correct Answer :-

. Gifted / UfqHTRITE

19) According to Freud, the term hysteria describes:/ WIS & U, fewifvar 2rsg @1 o

&
1. A phobia of animals./ EIGERED Udh Hiferdr
2. A phobia of people / ART &1 T Wifaan



3. The physical reaction to mental trauma./ AR 3TTd & o RN dfdfehar
4, The physical reaction to emotional trauma/ HIG-THdD TTd & forg IR wfafdar

Correct Answer :-

« The physical reaction to emotional trauma/ HIdIHD T & forg IR wfdfdar

20) Behaviorism was founded by / TERAIG 3 gRT AT fHaT 14T UT:
1. Tolman / TIdHA
2. John B. Watson / i1 & . dTcH

3. B. F. Skinner / &1.U% AR
4, Thorndike/ﬂl;‘@%@

Correct Answer :-

« John B. Watson / S &l .aTCE

21) Which of the following is not a characteristic of the discussion method of instruction?

/Frafafad & 9« fAdw & feR usfa St oo fagivar 7 82

1. The learners are trained for reflective thinking. /ﬁT&ﬂfﬁa’ﬁﬂﬁﬂﬁﬁlﬁ:{%%ﬁ Cllgz”&‘lﬁ
fParSmar gl

2. It involves competitive cooperation. /gﬂﬁm?ﬁw QT %I
3. It is an oral and written method of instruction. / g I?-léQI ﬁ@ﬁm @T%@Ht@ﬁl%l
4. It is a group centred process. / I8 U A{ed dHiad Uil g

Correct Answer :-

« It is an oral and written method of instruction. / g ﬁéQl ﬁwﬁm ﬁ?%@ﬁq@ﬁfél

22) The shape of one’s nose is determined by: / ot &t 716 BT JMTER '&'Ha? g1 fRuffea

gl e:

1. Geography / '-'-E'h?f

2. Environment / UITaRU]
3. Heredity / &naa&w
4. Culture / G¥Ppid

Correct Answer :-

« Heredity / STIdfRIDbdT



23) Learning should be focused on: / ST WR = S fea fopar sirm ?ITI%'E:
1. what child is learning / ST T 3{TENTH B el %

2. performance / LR

3. getting job / 1B UTe HRAT

4. marks/grades / 3{db/ PES

Correct Answer :-

. what child is learning / S/<aT &1 3{TATH H QT B

24) According Jean Piaget, children develop abstract logic and reasoning skill during ./ S oSt

P AR, IR = | 3 b 3R dcb Pl [Apfyd giar g
1. Concrete operational stage / @W SHAWT

2. Formal operational stage / G'I'Jﬁ i ardd SaT

3. Preoperational stage / qﬁ- BIER I EARIER))

4. Pleasure / 3TFq

Correct Answer :-

. Formal operational stage / 3[Hl HIhaTHD SARIT

25) The method which is based on the fact that students learn association, activity and
cooperation is known as: / g faftr st 391 qt wR enutia gl @ fr o fes nfafafyr iz
TEanT diEd §:

1. Problem- solving / SHXI- JHTYUT
2. Project / PUISE]

3. Demonstration / UG

4, Discussion / foar-fowef

Correct Answer :-

. Project / GaISHT

26) Inclusive education requires that schools should be free from the effects of negative
forms of ./ auash g & fie smaxgs ? % famney, & TORTHASD Ul
& YUTT I g B |

1. Imbalance / &rﬂ‘g’a:r



2. Differentiation / 3{ddh -
3. Diversity/ﬁﬁﬂ?ﬂ
4. Discrimination / U&UId

Correct Answer :-

« Discrimination / U&UTd

27) A commercial advertisement of food produces saliva in our mouth. This is because of

. /ﬁﬂ;ﬁrwmﬁsrmanﬁggﬁwmmm%lwﬁm
[

1. Operant conditioning / 3TRE He IR
2. Sign learning / Uciidh S{fERTH

3. Classical conditioning / FATRID S e =T
4. Latent learning / [t IR

Correct Answer :-

« Classical conditioning / FATRID A DRI

28) helps the visually challenged people to read and write using finger tips and

special aids. / S AN Y el B R ((hRfew) o faiy Treq & Iudhr
ERT UgA 3R foramt & gTadl Ha1 31

1. Lovass / JdI¥
2. Braille / &

3. Idea books / fdaR qad (3mefear ga)
4. Idea starter / IR URYS (&nsﬁsm E’I—é_{)

Correct Answer :-
« Braille /aﬁ
29) CANCELLED

According to John Dewey, the teacher plays the role of a in the learning process. /

Wi 34l & VR, Rrard siftrms ot ufpar d te ®t YfireT fAuTar g1
1. Guide / ANIGRI®
2. Facilitator / JAYUR

3, Partner / 9Tt



4. Philosopher / GRIFIRI]

Correct Answer :-

« Partner / 1t

30) CANCELLED
Stress affects learning negatively by: / T9Td TPRIAP U 4 W@ I YHIfAd BT 81
1. causing learners to act out or zone out./ Rrenfiai & s HA & fam URd BT

2. teaching learners to improve their behavior./ 30 HGER | JYUR H & fog Rienfial &1
UglHIl

3. encouraging learners to discuss their problems with peer. / I & 1 S9eh T THRTSH TR
Tl A b forg Rignfdat 1 uienfed B

4. releasing adrenaline./ TS-TATR SIRI HRAAT |

Correct Answer :-

« causing learners to act out or zone out./ Rienfial o1 s oA & fam URd BT

Topic:- General Hindi (L1GH)

1) AIYGSRT A MU HHRER B T SIS g9a1s 81 3TP v ggd era-1 Siftan it evmarar g1 39t
AT N 954 U9 21 99 Bt HHY 7 B 3R I g 1Y T 1 Ge® AR F ameft €1 wa-uie), wfaat
¥ gl § @ PRl # ITadr g31T Ul 32 98 35T avraT 8 1 T WY 399 URT 1w 81 W B o
a1 ot et g@ Tt @ SR ST F3 391 BT 31 AT 8 99 P! &b dIeR agaR W 96T SAaid? U-e &
TER 98 T W 934 7 3R Upfa 3t Ter fAerd &1 379 9t 39% 74 &) i et 81 i gu ot 3=
famie-=af ®va g, 78 al U I gU Beif 5o 3t e 3 Y A Ry wara 8 wara o Jwn @) Wy Ft
Yife ToIR 3d 81

I TR B UgH A AT 7T uHi & IR 9arsd

UR: U B gt B A a1 ard @2

1. Hgfe

2. fa@m

3. BIY
4. 3D

Correct Answer :-

2) UIYTETH A U WHRER &1 T FISY s7a13 81 IS9P A ggd Gera-1 Feiran W evmam 31 3951
AT Y 9gd U9 21 99 Bt HHY 1L B 3R g g 1 T 1 Ga® PRI & et €1 wa-uid), Ywrfaat
T gl # o BaaRl A ITAdT §3HT U1 3= 98 33T &TdT ¢ | 994 WY 39% U S1w 31 M &) o



a1 ot e} g@ ATt @ SR ST ®3 91 BT 8 14T 8 99 P31 & 91eR agaR W 96T SAaId? Ua-e &
TER 98 T IR 934 § 3R upfa 3t Ter fAerd &1 379 9t 39% v+ &) i et 81 i gu ot o=
famiig-waf ®wa g, 78 9 U 3 gu il 5o 3t e 3 Yo A Ry wura 8 wara o Jwn #) Wy Ft
Yifer TR 3 &1

Iuad TR B UgH A AT MU uHi & IR qarsd

URH: UM &7 qafgardt qreg 781 82

1.9Y

2. 3R

3. &R

4, AP

Correct Answer :-

3) WIYFS A U HRWR &1 Tt 1S} 99915 81 I9F A 95 Gera-1 suitan off erarar g1 39!
AT Y 95 U9 21 U9 Bt HHY L B 3R I g 1 T 71 Pea® AR F et €1 wa-uid), Iwrfeat
J gl # ol BaR| | IDadl g1 U 3% agd 31es] adl ¢ | THg Wi 377 U ST ¢ | H S o
o &Y Rft Ta el @ SR MU ¥ {1 P 8l SIIal § 99 BT & 916 Igay W d&d SAdIh A6 &
TER I8 T W 954 § 3R Upfa 3 SeT fFeRd &1 5798 9 3710 94 &1 gitd et 31 e gudt ==
faie-=af ®va §, 78 a9 U 39 gU BT g9 3t Hew 3 He A v wura & wara § Jun &) Ww $t
yifd TaR 34 B

Iued TR B UgH AR AT U vl & IR 9drsd

URH: ‘e’ BT Ugiaar s A8l 82

1. gA

2. 1Y

3. g
4. qY

Correct Answer :-

4) ATYGSTH A AU TR Ft T HISY a7a918 31 TP WA 9gd JeTa-T1 seiran f Tramr 81 3961
P N 984 U9 B Wﬁwqﬁ%sﬁvmﬂqqqﬁw%lwaﬁwﬁr%m%lwﬁﬁ IHTeEl
¥ Al § @ PRl # ITadr g3 U 3% 9gd 35T avraT 8 1 Tud WY 3% URT 1w 71 W 61 o
a1 ot e} g@ ATt @ SR ST F3 91 BT B AT 8 99 PIS! &b dIeR agaR W 96T SAaId? U-e &
UER 98 TTeld W 964 & 3R Upfa & Ter AR §1 3799 a1 39 14 31 gie e 81 i g at 3+
famiig-waf ®wa g, 78 9 v 3 gU weif g9 3t e 3 Y A Ry wura 8 wara o Jwn #) W Ft
Yifer ToIR 3 &1

ST TN B UgH A AT U uHi & IR qarsd

;e & T aread @2

1.me$mﬁwnﬁaﬁw



2. 9cTs I1 WIed e
3. T HUS
4, d D1 3l arelt Ilax

Correct Answer :-

o DI 1Y & YN J &1 7T fosrad

5) HIYGET A U TIRWR &1 Tdt FIdt 9141 81 ITP AW ggd Gera-1 Sifiar +ff eraman 81 39t
AT Y 9gd U 81 99 B 3 78 | 3R suw g 1Y T 81 e e & srett §1 wa-me, IbTfaal
3 givll # T PRl # ITedT g3 U I 98 33T a1 & 1 g9 WY I9& U 1w 81 U &I o
o1 &t et T@ Tt @ SR ST F3 39 BT 8 WIIaT 8 99 HI1 & 916R AgaR W 9T SAdid? UG &
HER 98 Tl W d46d § 3R Ypfd @t Del FgRd §1 5798 a1 39 74 3t ity fyerdt 31 firy gu af s+«
faie-=af #vd g, 7Y @ Uy 7 gU wRif g5 It e @+ Y A o wura § wura § Wear & Wy $t
yifd ToR 4 B

IUYa TN DI UGH A1 AT ¢ vkl & IR s

UR: IR Weg A A A |2

1. fac=h

2. dHH

3. dad

4, TR

Correct Answer :-

6) WIS 7 U TR @1 T HIdt 9413 81 ITP AW ggd era1 Sitar +ff errarar 81 39t
AT N 95 U 31 99 Bt HH T | 3R g g 1 T 1 Ge® AR F st €1 wa-uie), wfaat
¥ gl § o WeaR! A ITAdT §31T U 3¢ 98 35T @rdT ¢ | 994 WY 39% U Sl g1 M B 5
o Y TRl ga STelt @ SiR ST 5 W BT 8 WIaT § 99 BT & 916R IgaR W a%d SAATH UG &
HER 98 o IR 954 & 3R Upfd F Ber Ferd §1 379 7 39 74 &) gty fierd 81 i gr at o=«
famiig-=at ®vd &, 78 a9 U 3 gU it 5o 3t e 3 Yg A Yy wura 8 wara # Jwn @) Wy
Yifer ToIR 3 &1

I TR DI UgH A fAu MU uHl & IR 9

U=: X $ THY $T TG HHT 51471 02

1. $ad UM H3 31 61 g1 Sl &

2. pad A B i e o B

3. foq ot miif o ST B SR S %% 31 &1 81 SIIn 8; Al

4. fe o i Sg ol 8

Correct Answer :-

. o Y 7ef oot STt iR SIHT s 1 61 81 9rdl 8; St



7) WIS A U TWRWR &1 Tt F1dt aa1s 81 39S WA ggd era-T Siftar ff arrarar 81 39t
AT N 95 U9 21 99 B HHY 7 | iR g g 1 T 1 gev PRy & et €1 wa-wie), warfaal
¥ gl § @ PRl # ITedr g3 Ul 3 95 35T avraT 8 1 G9d WY 3% URT 1w 81 W 61 o
o1 &Y aft Ta STl @ SiR MU % [ HT 81 AT § 99 BT b 18R g W aEd SATB G b
HER 98 o™ IR o4 8 3R Upfd F ol fFera §1 3790 M) 39 74 31 gie frerd! 81 fi ge af 5@
famiig-waf ®wa g, 78 a9l U 3 gU weif g 3t e F Yg A for wura 8 wara § Jwn &) Wy Ft
Hifd IR &a &1

UG TR DI UgHR A1d fAT 7Tyt & IR Far=

U SfiRefa o orfir w82

1. Uy

2. PRD

3. fofr

4. IUTH

Correct Answer :-

8) WIS A AT TRRTR Ft T F1S} §9a18 1 ITP Y9 959 Jera-1 suitan f errarar g1 39t
AT Y 9gd U9 21 U9 Bt HHY L B 3R I g 1 T 71 Ga® AR F et €1 wa-ute), Ywrfeat
T gl # o BaaRl A ITAdT §3HT U 3¢ 984 33T aTdT ¢ | 994 WY 39% U S1wl 31 M &) o
o1 &t et g@ Tt @ SR U ®3 39 BT 8l AT 8 99 P11 b 918R IgaR W 96T SAdId? TG &
HER 98 T W d46d § 3R YPid 3t Del FgRd &1 5798 aF1 39 74 3t giea fyedt 31 fiy gu at s+
fae-=af ®va §, 78 a1 U 39 §U weif g0 3t oo 31 Hg H o wura € Tara § Jwn &) Ww $t
Yife R ¢4 B

IUYT TR B UHR A4 [GT T Ui & IR aa13d =

U: AIeEe fhd USR & e 82

1. grax MRef aret

2. 911 3{Tedl aral

3. fAdH qfe fae o

4. HAR 3R IR g

Correct Answer :-

. R RS are

9) HTYGSTH A AU TR Bt TN FISY 91918 31 TP A 9gd JeTa1 Firm o Tramn 31 396

AT N 954 U9 31 99 Bt HHY 7L | 3R v g 1 T 1 Ge® AR & st €1 wa-uie), wafaat

¥ gl § @ PRl # ITadr g31T U 32 98 35T avrar 8 1 T WY 3% URT 1w 71 W 61 o

a1 ot e} ga ATt @ SR ST ®3 91 BT 3 a1 8 99 B! & d1eR agaR W 96T SAard U-e &

TER I8 TeiE W o4 § 3R Upfa #1 Ter FeRd &1 399 9 37 949 &1 gitd firert 81 i guadt 394

ﬁq%z-aafg%%’,qﬁﬁwr@@mﬁgﬁﬁwﬁﬂ%ﬁmmﬁmﬁﬁwﬁmaﬁ
TR 34 81



I TR P UgH 1 f3T ¢y & IR Farsd
URH: UGS St BT & ATHA T UT?
1. ST

2. SRy

3. Hgd
4, FET

Correct Answer :-

10) HIHTGH 7 3 TARIR B T S} g7aTS 81 SHS T 9gd Jera-1 suiran it wrarmar g1 39!
AT 95 U9 81 U9 Bt HHY L | iR I g 1 T 1 Gea® AP RT F et €1 wa-uid), Iwrfaat
T gl # o BeaRl A ITAdT §3MT U1 3= 98 33T TTdT ¢ | 9Hd WY 39% U S1w 31 WM &) &
o1 Ft et T@ STt @ SR ST $3 39 BT 8 WIaT 8 99 S b F18R g W 96T SAdId? UG &
TER I8 TR W 954 § 3R Upfa 3 Ser Fera &1 3798 9 371 049 &1 gitd frerht 31 B guadt ==
faie-=atf ®va g, 78 a9l U 39 §U weif g9 3t Hew 31 Hg A fou wura € wara § Jun @) wWw Fi
yifa o 34 B

ST T DI UGH A AT TC uHi & IR s ¢

U HIYIST B T Tgd ST T 32

1. BR[| ITardl g3l Uit

2. TR TR I

3. HYq oI

4. UPpid DI Bl HgRAl

Correct Answer :-
. ThaaR! H ISadl gl U

11) AIYGSRT A MU TR B T IS g9a18 81 3TP oA 9gd era-1 Siftan +ft svrarar g1 39t
FAT N 95 U9 21 99 B HHY T B 3R I g 1 T }1 Gee® AR F amreft €1 wa-uie), wfaat
8l § T PRl # ITedr g31T U 32 98 35T avraT 8 1 g9 WY 39 URT 1w 81 W &I o
a1 ot e} ga ATt @ SR ST F3 I BT 8 AT & 99 P31 & 91eR agay W 96T SAaId? Ta-e &
TER 98 T IR 954 & 3R UPpfd F Ber Ferd 1 378 7 39 74 &) gty fierd 81 i gr at =
famiig-=af ®va g, 78 a9l U 3 gU Beif 5o 3t e 3 Y A Yy wura 8 wara § W @) Wy
yifer ToR 3§

ST TR P UGB - f3T ¢ uei & IR Farsd

UR: HIYGSR Bl fhy e @ 09 U

1. ®I3T
2. YRR

3. Dl



4, =T

Correct Answer :-

12) AIYGSRT A 3 HHRER B T SIS g9a18 81 3TP Yo ggd era-1 Siftan ot evmarar g1 39t
P N 954 U9 21 99 B HH 7Y | 3R I g T T }1 Ge® AR F st €1 wa-uie), Ifaal
gl # o waaR! A ITAdl §31T U 3= 984 33T @TdT ¢ | 994 WY 39% U STl g1 M &) o
o Y ft Ta el @ SiR MU 5 1 HT1 81 WIIaT § 99 HIST & 916R IgaR W a&d SAdrh A6 &
TER 98 e WX 954 ¢ MR UPpfa Ft o1 Fera §1 378 9 39 14 &Y ity frad 81 i gu @t o=
faeiig-wat ®wd g, 78 91 U I gU BRIl g9 3t e 3t Yg A Ry wura 8 wara o i &) Wy $it
Uife R 39 B

Iuad TR D1 UgH A AT 1T usl & IR aadrsd

UL: HIYae e U $4 32

1. H&H

2. YT

3. fAea
4. 3T

Correct Answer :-

13) WIYGSRT 7 (U WIRER S T SIS §9a15 8 | STP 9 9gd gera-1 Fitan +ft avmarar g1 39t
AT Y 9gd U 81 99 &1 781 | 3R saw g 1Y T 81 e iy & sett €1 pa-me, IwTfaal
J gl # o BeaR| | IDedl g1 U 3% agd 31ST Tl ¢ | FHY WY Ik U STWi g1 H $i o
o1 Ft et Ta STt @ SR ST F3 3 BT 8 WIdT 8 99 P31 & 918R IgaR W 96T SAdId? UG &
UER I8 TR W 954 § 3R Upa 3 Ser Fera &1 3798 9 371 94 &1 gitd frercht 31 e guadt s==
faie-=af #va g, 7Y d@f Uy 7 gU wRif g5 9t e #) Y A o wura § @y § Jear & Wy $t
yifd TR 34 B

IR T F UgH 4 fRw e vl & IR Farsd

UR: A P TN Teid W B4 9847 32

1. T

2. HIYACET™
3, HIYdE & URaRIeH
4. HIYTACE

Correct Answer :-

o HIYdQY



ATYGET 7 (U ITHRER B T HISY a1a13 81 ST AW Igd gera- avftar oft evamar 81 39! wan
{ 959 W 31 99 o it 7Y B 3R suga g 1Y Tar 81 ge© ey & snetht €1 wa-me, ywrfaal @
Bl ¥ o waR) W 3T adr g3 UL S 954 33T aTdT ¢ | 90T ot 39% UTH HTW! g1 M & oiF faq
Pt TR e AT 8 3R SATHH F3 7 HT 81 AT & a9 PIST P J18R Igar UR a6 SAAIPR AIG &
HER 98 et W 64 & 3R Upfd F Tl fFeRd §1 3790 Ml 39 w4 31 git fredt 81 fi ge af s
faie-=af #va g, 7Y a@ Uy 7 gU wRif g5 F e @+ Y # fou wura § wura § W & Wy $i
yifd TR 34 B

SUa TN DI UgH A1 A 7T uki & IR qansd

U: WG & WaRT ford =0 & giar 872

1. e & =9 d

2. AR B EIY

3LTEH®aH

4. dlpd B =Y H

Correct Answer :-

. AP HETTH

15) HIYGSRT 7 3 TR B T SIS} g7a18 8 | STP 91 ggd Jera-1 Siftan +ft evrarar g1 39t
P N 954 U9 81 99 B HH 78 | 3R I @ T T 1 Ge® AN F 3t €1 wa-uie), Ifaat
T gl ¥ o BaaRl A ITAdT §3MT U 3 98 Se3T ardT ¢ | 994 WY 39% U S1wl g1 M &) o
o Y ft Ta el @ SiR MU 5 W P 8 SIIal § 99 HIST & 916R IgaR W d&d SAAIH H9G &
UER 98 Teid W 54 & 3R Upfd #1 Tl Ferd §1 399 a1 399 74 &1 git et 81 i g af 3
faeiig-wat ®vd g, 78 9 U 3@ §U BRIl g9 3t e 3t Yg A Ry wura & wara o i &) W it
Yife R 39 B

Iuad TR D1 UgH A AT U usl & IR 9

U fRam Sl FIdt HIRER @ §9a1g?

1. HIEdqy

2. HIYdIqr

3. HIEIag

4, HIYdIGTH

Correct Answer :-

« HIYdQ™

16) Uraq %4 t, uda uew,
Ud-ud ufvafdd ypfa-al

AEATHY gdd 3MUR

3T T T-GHA BTS,
3qal® 8T § TR-IR

H oa ® fAs AETeR,
-foraeds =o' # uer ard
uor 91 B g famen



fafy =1 kg MR IR-IR
e # 999-99 I ford a3
ot ot afeal @ g
R4 & T W s

I UL &1 UgH 14 fU TT uel & IR qa15a
UR: Hfd B goRI Td fPId! avg TR 82

1. Hidl &t Afsdl i TRE

2. UBTS Pl 3T &t RE

3. §8d IR Bl AB

4, QUU &1 TRE

Correct Answer :-

. UGTS & 3Gl Y g

17) uraq %q A, uda wexr,
yd-ud giafdd ypfa-a=n

AGATH? Udd 3UR

3 A T-GHA BT,
3aaIP T8 & TR-9R
I wi@ § e "eTeR,

-forae =Ron # yer ara
uur |1 thar g fawmen
fafy &1 MR9 e IR-3R
e # 999-99 I« fora s
il &1 afsal @ gz
A I R AR

IUY TR B Ugdh A1 T 7T et & IR 94133
W Udd o1 yaigardt Weg 72

1, hdd UGS

2. HIA A

3. Had 3

4. SR gt

Correct Answer :-

o SWRIad g+

18) uTad Bq I, udd v,
d-ud giafde ypfa-a=n

AGATHR Udd IR
3T g T-GHA BTS,



3qaP BT § TR-IR
1 oa ® fAe AgeR,

-orad ==on # yar ara
dur I1 therr ¢ fa=men
fafy &1 kg MR IR-IR
e H F99-79 I«ford &R
Tt ot afsal @ gev
A & 7T W fgh

Iuad U=IRT B Ugh? 19 AT 1T usf & IR garsd
U R frad TRT &1 TH TR % 872

1. dlefld

2. dl

3. qUUT

4, gad

Correct Answer :-

19) UGy g &Y, udd wew,
yd-ud ufvafdd yefa-awl

AGATHR Udd 3MUR

3 T T-JHA BT,
3qel® 8T § TR-9R
4R wia § e 7eTeR,

-orad =N # uar ara
dor a1 Sar @ fazmen
fafy &1 kg MR IR-IR
e # d99-9 Iford o3
Tt ot afsal @ gav
ZRA & 3T R fagha

ST Ui B UgPpR A1 AU ¢ usf & IR 9a18a :
UR: IRA P g [Had B TS 82

GIGICAS]

2. 4l &1 dfgal ¥

3. BRI QU ¥

4, gUUT Y

Correct Answer :-

. Hidl &t wfeai A



20) UTaw Bq ft, udd udw,
Ud-ud ufvafdd yefa-awl

AGATHR Udd 3MUR

3 e T-GHA BTS,
3qel® 8T § TR-9R

H wa A A "ETeR,

-orad == # yar ara
dor |7 e @ fammen

fafy =1 kg MR IR-3R
e # d99-99 Iford a3
ot 7t afsal @ g
TR T W s

ST U B UgPR A1 AU T¢ uef & IR 9a18q
US: $fd 7 drard B EEdT [ fors 82
1. 3ffeh

2.3q
3. U g
4.99d 9

Correct Answer :-

21) UTaw Bq ft, uda ue=,
yd-ud givafdd ypfa-a=n

AEATHR Udd 3R

3T T TI-GHA WIS,
3AaIP ¥81 & TR-9R
I wia A e HETeR,

-foraes == # uer ard
ot 1 S g fa=mmen
ffy =1 kg MeT IR-IR
e # d99-9 Ifora a3
Tt ot afsal @ gr
R § 9N W fAsie

ST Ui Bl UgH -4 f3r TT uet & IR qarsy

UR: UTaN B B Upfa ® @1 a1 uRad= orar 22

1. Had gad & -I1d Bl ararel & gddl & IRSTs fedrs sl g
2. Fad V1 B fad o B

3. hare] HIGH BR de Saadl 6|

4, IWRIad gt



Correct Answer :-

o SWRIad I+

22) UEaw Bq A, udd udw,
yd-ud giafdd ypfa-a=n

AGATHR Udd 3MUR

3T WX T-GHA BT,
@1 8 IR-9R

4R oia § e 7R,

-orad == # yar ara
dur 91 Trer @ fa=men

ik &1 Ma M IR-3R
e ¥ T99-9 Iiford B
Tt ot afsal @ gev
R 3 9 W i

Iue U=IiRT B g 9 AT 1T usY & IR garsd
U: UTad Hg § UPpfd $TEI?

1. §gd TRA S g

2. YT B ol 5 |

3. BR &0 §erdl 3 |

4, T8 JEad 8|

Correct Answer :-

. WU TCAdI g

23) UrEaw Bq o, udd uew,
Ud-ue ufvafdd yepfa-asi

AEATHT Udd AR

3 WE¥d I-GHA BT,
3qaP 6T & TR-IR
e oa ® fAs AETeR,
-foraes == # uer ard
dur a1 e @ e

fafy &1 kg MR IR-IR
e § T9-19 Iiford B
ot &t afeal @ g
FRA & 3T R fastn

ST U Bl UgHR A1 AT 7T Ui & IwR 915y ;
U a1 3 T 32

1. d



2. 3T
3, ool

4. 09

Correct Answer :-

24) UEad %q 8, udd v,
yd-ud giafdd ypfa-a=n

AGATPR Udd IR

3T T T-GHA BTS,
3qal® 8T § TR-IR

1 oa ® fAs AETeR,
-foraes == # uer ard
uur |1 e g fammmen
farfy &1 MR9 MR IR-3R
e # 999-9 Iford a3
Tl &1 afsal @ g
A § 7 W Fsi

ST Ui Bl UgHh -1 f3r T gt & IR qarsy
TR e T-GHT HE A FT A= §2

1. 0 A PIS 751

2. TETSI IR el §oIRI Goatl &

3. UGS &1 Tt 4

4. Bl & RIM I

Correct Answer :-

. UgTSl W R gkl Ball

25) Uy %q A, udd wew,
ud-ua ufeafda yepfa-asri

TRAATH Tdd U

3 e T-GHA BTS,
TP V6T § TIR-IR
 w@ § e "eTeR,

-forad == # uan ara
uor |1 e g fawmen
fafy &1 g MR IR-3R
e # 999-9 I«ford a3
il &1 afsal @ gz
R € 9T R fasie



SU Ui H1 UgH -4 f3r T ue & IR qargy
U HE PT AR HT 5?2

1. PASI

2. YFel

3. BVIR
4, di9g

Correct Answer :-

26) UTaY %4 t, gdd uew,
d-ud givafdd ypia-a=n

NGATHY Udd SUR

3T T T-GHA BTS,
3AaIP V8T & TR-9R
I wa # A "eTeR,

-foras =i & udn dara
uor a1 e g fammmen
farfy &1 TR9 MR IR-3R
e # 999-9 I ford a3
ot ot afeal @ g
A § 7 W sl

ST Ui &1 UgHe 14 f3U MU ue & SR aa18d
UH: WY’ Weg e d & T 82

1. fagzh

2. A=

3. dH

4, dad

Correct Answer :-

27) uad %q &, udd v,
yd-ud giafdd ypfa-a=n

TEATHR Udd 3UR

3T g T-GHA BTS,
3AIP V8T € TR-9R
HH wa | e 7o,

-foraes =R # yer ara
uor |1 e g fammen



farfy &1 MR9 MR IR-3R
e # d99-99 I«ford a1
ot ot afeal @ g
TRA & 3mT W fagh

ST Ui &1 UgH 14 fU TT uel & SR 9a15a
URH: A’ By A T ared 3?2

1. 94d Bg

2. Uisq 3%q

3. 9N Bg

4, A Bq

Correct Answer :-

28) UTaw Hq ft, udd uew,
yd-ud giafdd ypfa-a=n

AGATHR Udd 3UR

3 e T-GHA BTS,
3aaIP 78T & TR-9R
 wa § e "eTeR,

-foreaes == # uer ard

uor |1 thar g fammen

fafy &1 MR9 MR IR-3R

e # 999-99 I«fora #3

il &1 afsal @ gz

A I R AR

IUa U=IIRI B Ugh i AT 7T g & IR 9a1sd
U: ‘3[deil ¥8l ¢ TR-9R’ H 3adie A AT 22
1. AT

2. FIAT

3. @

4. -

Correct Answer :-

29) Uad %q &, uda wew,
d-ud giafde ypfa-a=n

AGATHR Udd IR
3T g T-GHA BTS,



3qaP BT § TR-IR
1 oa ® fAs AEeR,

-orad =N # uar ara
dur I1 therr ¢ fa=men
fafy &1 kg MR IR-IR
e H F99-79 I«ford &R
Tt ot afsal @ gev
A & 7T W fsh

Iuad U=IRT B Ugah? 19 AT 1T usf & IR gasd
U "W A g8l T &2

1. for

2. faamm

3. faR1y

4, Tt

Correct Answer :-

30) Uaw Bq A, udd udw,
yd-ud ufvafdd yefa-awi

AGATHR Udd 3MUR

3 e T-JHA BT,
3qel® 8T § TR-9R
4R ora § e 7eTeR,

-orad =N # uar ara
dur a1 Sar @ fazmen
fafy &1 kg MR IR-IR
e # d99-9 Iford s
Tt ot afsal @ gav
A § I W Fsie

ST Ui B UgPR A1 AU T¢ vl & IR 9a18d :
W Wil Weg A A A | e

1. gfee

2. Tl

3. U

R

Correct Answer :-



Topic:- General English(L2GE)

1) Read the poem carefully and answer the question given below:

"You are old, Father William”, the young man said,
“And your hair has become very white,
And yet you incessantly stand on your head,
Do you think, at your age, it is right?”
“In my youth”, Father William replied to his son,
I feared it might injure the brain.
But, now that I'm perfectly sure I have none,
Why, I do it again and again.”
"You are old,” said the youth, "as I mentioned before,”
And have grown most uncommonly fat;
"Yet you turn a back somersault in at the door,
Pray, what is the reason for that?”
“In my youth,” said the sage, as he shook his grey locks,
"I kept all my limbs very supple,
By the use of this ointment, one shilling a box.

Allow me to sell you a couple.”™ Lewis Carroll

A word similar to the word ‘incessant’ in the poem would be:
1. continuous

2. periodical

3. ending

4. interrupted

Correct Answer :-

e continuous

2) Read the poem carefully and answer the question given below:

"You are old, Father William”, the young man said,



“And your hair has become very white,

And yet you incessantly stand on your head,

Do you think, at your age, it is right?”

"In my youth”, Father William replied to his son,

"I feared it might injure the brain.

But, now that I'm perfectly sure I have none,

Why, I do it again and again.”

"You are old,” said the youth, "as I mentioned before,”
And have grown most uncommonly fat;

"Yet you turn a back somersault in at the door,

Pray, what is the reason for that?”

“In my youth,” said the sage, as he shook his grey locks,
"I kept all my limbs very supple,

By the use of this ointment, one shilling a box.

Allow me to sell you a couple.”™ Lewis Carroll

How would you most likely describe father William?
1. A young, healthy sage

2. An old, fat sage

3. An old, fit, grey-haired sage

4. An old, fat, grey-haired sage

Correct Answer :-

» An old, fat, grey-haired sage

3) Read the poem carefully and answer the question given below:

"You are old, Father William”, the young man said,
“And your hair has become very white,
And yet you incessantly stand on your head,
Do you think, at your age, it is right?”
“In my youth”, Father William replied to his son,
I feared it might injure the brain.

But, now that I'm perfectly sure I have none,



Why, I do it again and again.”

"You are old,” said the youth, “as I mentioned before,”
And have grown most uncommonly fat;

"Yet you turn a back somersault in at the door,

Pray, what is the reason for that?”

“In my youth,” said the sage, as he shook his grey locks,
"I kept all my limbs very supple,

By the use of this ointment, one shilling a box.

Allow me to sell you a couple. ”- Lewis Carroll

What is the 'it' Father William is referring to in the given line?
I feared it might injure the brain

1. putting on excessive weight

2. having grey hair

3. trying a somersault

4. standing on your head

Correct Answer :-

» standing on your head

4) Read the poem carefully and answer the question given below:

"You are old, Father William”, the young man said,
"And your hair has become very white,

And yet you incessantly stand on your head,

Do you think, at your age, it is right?”

“In my youth”, Father William replied to his son,

"I feared it might injure the brain.

But, now that I'm perfectly sure I have none,

Why, I do it again and again.”

"You are old,” said the youth, “as I mentioned before,”

And have grown most uncommonly fat;

"Yet you turn a back somersault in at the door,



Pray, what is the reason for that?”

“In my youth,” said the sage, as he shook his grey locks,
"I kept all my limbs very supple,

By the use of this ointment, one shilling a box.

Allow me to sell you a couple.”-Lewis Carroll

What most likely do you think is the objective of Father William?
1. To show the boy how healthy he is

2. To show the boy his agility

3. To prove to the boy that he is still young

4. To impress the boy and make a sale

Correct Answer :-

o To impress the boy and make a sale

5) Choose the appropriate pronouns for the given sentence .

aunt had a three-year-old daughter when lost husband.

1. His, they, her
2. Her, they, their
3. My, she, her

4, Their, she, his

Correct Answer :-
* My, she, her

6) Fill in the blank with the correct option in the given sentence:

The man was completely devastated and felt ___ all the time, after the death of his wife.
1. longingly

2. longed

3. lonely

4. loneliness

Correct Answer :-

 lonely



7) Which of the following options best combines the following sentences?
He is very old. He cannot walk.

1. He is old and he cannot walk.

2. He is too old to walk.

3. He is very old enough not to walk.

4, He is so old but cannot walk.

Correct Answer :-

» He is too old to walk.

8) Choose appropriate articles for the given sentence:

Jaipur is ___ beautiful place to visit provided you have ____ proper information of places.
1. a, the

2. an, no article required

3. the, a

4. no article required, a

Correct Answer :-

9) Choose the appropriate option that rewrites the given sentence in its active voice.

Their lessons are being learnt by them.
1. They are learning their lessons.

2. They are learning lessons.

3. They were learning their lesson.

4, They learnt their lessons.

Correct Answer :-

¢ They are learning their lessons.

10) Choose the appropriate synonym for the highlighted word in the given sentence.

I paid her a compliment on her getting the first place in the university examination.



1. flattery
2. tip
3. praise

4, reward

Correct Answer :-

e praise

11) Choose the appropriate tenses to fill in the blanks in the given sentence:

We can out now. It any more.

1. went, didn't rain

2. going , doesn't rain
3. go, isn't raining

4. never go, isn't raining
Correct Answer :-

* go, isn't raining

12) Choose the appropriate antonym for the highlighted word in the given sentence.

That mistake was a result of crass incompetence!
1. careful

2. insensitive

3. vulgar

4, refined

Correct Answer :-
¢ refined

13) Choose the appropriate conjunction for the following sentence:

He showed a lot of promise in his new job his manager gave him a quick promotion.

1. because

2. as



3. and

4. but

Correct Answer :-

14) Choose the appropriate prepositions for the given sentence:

Let's be straight each other and don'tjump ___ conclusions.
1. against, for

2. with, to

3. at, through

4, for, into

Correct Answer :-

e with, to

15) Choose an appropriate modal for the given sentence:

you pass me some salt, please?
1. Might
2. Must
3. Could

4. Should

Correct Answer :-
e Could

16) Choose the option that best explains the highlighted expression:
Your little brother is a pain in the neck.

1. atoddler

2. a chatter box

3. a big bore

4. a big nuisance

Correct Answer :-



e a big nuisance

17) Choose the option that best transforms the sentence into its Indirect form:

‘Beware of pickpockets,’ said a huge notice.

1. A huge notice instructed us to be aware of pickpockets.
2. A huge notice is warning all the public to beware.

3. A huge notice warned us to beware of pickpockets.

4. A huge notice has claimed us to beware of pickpockets.

Correct Answer :-
» A huge notice warned us to beware of pickpockets.

18) Choose the option that substitutes the given phrase appropriately.

That branch of physics dealing with movement and force

1. Static
2. Dynamics
3. Electricity

4, Energy

Correct Answer :-
¢ Dynamics

19) Read the sentence carefully and choose the option that has an error in it:

We were officially notified of the newly public holidays.
1. officially notified

2. of the newly public holidays.

3. We were

4. No error

Correct Answer :-

« of the newly public holidays.



20) Read the sentence carefully and choose the option that has an error in it:

Just before he died, my friend who writes books published his second book.
1. my friend who writes books

2. published his second book.

3. No error

4, Just before he died,

Correct Answer :-

* my friend who writes books

21) Change the given statement to indirect speech.

“If you refuse to hand over the car, I will cancel its registration,” said the officer to the woman.
1. If you refused to hand over the car, I would cancel its registration said the officer to the women.

2. The officer told the woman that if she refused to hand over the car, he would cancel its registration.

3. The officer told the woman that if she refuse to hand over the car, he would cancel its registration.

4. The officer warned the women that if she refuses to hand over the car, he will cancel its registration.

Correct Answer :-
» The officer told the woman that if she refused to hand over the car, he would cancel its registration.

22) Read the following passage and answer the question given below:

‘When you buy a car, examine carefully the important features of the model you are considering. Many a
buyer of the latest models have got into trouble by buying a car too broad or too long for his garage.
Furthermore, a longer car is much harder to manoeuvre in traffic and much more difficult to park.
Another feature is the comfort afforded. Are the seats nice and durably upholstered? Is there enough glass
area to give the driver a good view in all directions, particularly the rear? It should be remembered that
the heavier and more powerful a car is, the more expensive it will be to operate. High-powered motors
require expensive high-octane petrol. The greater weight means greater tyre wear and enlarged brakes.
The old cliché is still true; it is not initial cost but the upkeep which matters!

It is very expensive to maintain a large car because it
1. is heavy

2. needs more durable upholstery

3. needs changing its tyres more frequently

4. requires more space for parking



Correct Answer :-

« needs changing its tyres more frequently

23) Read the following passage and answer the question given below:

When you buy a car, examine carefully the important features of the model you are considering. Many a
buyer of the latest models have got into trouble by buying a car too broad or too long for his garage.
Furthermore, a longer car is much harder to manoeuvre in traffic and much more difficult to park.
Another feature is the comfort afforded. Are the seats nice and durably upholstered? Is there enough glass
area to give the driver a good view in all directions, particularly the rear? It should be remembered that
the heavier and more powerful a car is, the more expensive it will be to operate. High-powered motors
require expensive high-octane petrol. The greater weight means greater tyre wear and enlarged brakes.
The old cliché is still true; it is not initial cost but the upkeep which matters!

The author favours a car with a wide glass area so that the driver can
1. enjoy the scene outside while driving

2. display his beautiful upholstery with pride

3. have a good view of all sides

4. roll down the glass panes to get enough fresh air

Correct Answer :-

¢ have a good view of all sides

24) Read the following passage and answer the question given below:

When you buy a car, examine carefully the important features of the model you are considering. Many a
buyer of the latest models have got into trouble by buying a car too broad or too long for his garage.
Furthermore, a longer car is much harder to manoeuvre in traffic and much more difficult to park.
Another feature is the comfort afforded. Are the seats nice and durably upholstered? Is there enough glass
area to give the driver a good view in all directions, particularly the rear? It should be remembered that
the heavier and more powerful a car is, the more expensive it will be to operate. High-powered motors
require expensive high-octane petrol. The greater weight means greater tyre wear and enlarged brakes.
The old cliché is still true; it is not initial cost but the upkeep which matters!

The size of the car should be in accordance with
1. the width of the road where the buyers lives

2. the size of the garage the buyer has

3. the volume of the traffic on the road

4. the money one can afford to pay

Correct Answer :-



« the size of the garage the buyer has

25) Read the following passage and answer the question given below:

When you buy a car, examine carefully the important features of the model you are considering. Many a
buyer of the latest models have got into trouble by buying a car too broad or too long for his garage.
Furthermore, a longer car is much harder to manoeuvre in traffic and much more difficult to park.
Another feature is the comfort afforded. Are the seats nice and durably upholstered? Is there enough glass
area to give the driver a good view in all directions, particularly the rear? It should be remembered that
the heavier and more powerful a car is, the more expensive it will be to operate. High-powered motors
require expensive high-octane petrol. The greater weight means greater tyre wear and enlarged brakes.
The old cliché is still true; it is not initial cost but the upkeep which matters!

According to the author, two factors that the buyer of a new car should keep in mind are:
1. Its upholstery and glass area

2. Its colour and upholstery

3. Its size and comfort

4. Its price and size

Correct Answer :-

e Its size and comfort

26) Fill in the blank with the correct option in the sentence:

She acted as a peace-- between her squabbling children.

1. --sign
2, --ful

3. --fully
4. --maker

Correct Answer :-

e --maker

27) Fill in the blank with the correct option in the given sentence:

When I make a mistake, I am said to --calculate.



1. mis--
2. dis--
3. over--

4. un--

Correct Answer :-

e mis--

28) Fill in the blank with the most appropriate preposition in the given sentence.
Turn the lights outside. We don’t need them.

1.in

2. on

3. at

4, off

Correct Answer :-
o off

29) Choose the most appropriate determiner for the given sentence.

He gave of us advice about our present goal.
1. each
2. every
3. much

4, the whole

Correct Answer :-
e cach

30) Choose the right tag:

It rained this morning, ?
l.is it
2. isn'tit

3.did it



4, didn't it
Correct Answer :-

o didn'tit

Topic:- Social Science (S5C)

1) Match the following Education Centre with places.
1. Nalanda A Bengal
2. Somapura B. Kashmir

3.Jagaddala C.Bihar
4. Sharada Peeth | D. Bangladesh

| TAeafafaa f&ra el &1 erEr & a9y B &
1. Arelar AT

2. WA | B.H¥ER
3. FA9genr | C. S8R
4, AREr 913 | D. dieneer

1. 1-A,2-B,3-C4-D
2.1-C,2-D,3-A,4-B
3.1-C,2-B,3-A,4-D
4. 1-C,2-B,3-D,4-A
Correct Answer :-

- 1-C,2-D,3-A4-B

2) The major disadvantage of dramatization is: / AP TUIAR BT TG TH AT Bl

1. It is not suitable for all subjects and topics / 78 T} fawdl 3R U= & forw Ioged 181 g |
2. It improves group cohesion / g THg AHRT T YUR Hal gl
3. It promotes self-confidence / I8 THAYR P! TgTal &l gl

4. Tt provides opportunity for self-expression / g M-3RI & AT AR TG Bl gl

Correct Answer :-

« It is not suitable for all subjects and topics / dg gt fawa ok gt & ferg SUgad :@){%I



3) Which one of the following is not a part of early Jains literature? /

fFrufafad § 9 19 e RIS 39 9t &1 = 181 82
1. Brihatkalpasutra / §edd cUdA

2. Acarangasutra / 3RIRTRA

3. Therigatha / SRITTYT

4. Sutrakritanga / gAHNT

Correct Answer :-

» Therigatha / AT

4) The Guptas issued silver coins known as: / @l A 9idl & Riges vafera
5, forg weTwmaT 8:

1. Karshapana / YT
2. Dinara / feARI
3. Pana /Y-l

4, Rupaka / 3Uldhl

Correct Answer :-

« Rupaka /3Ul®T

5) When does Election Commission orders countermanding of elections? / g-Td STT

ATEl & Y I BT M Hd 3T 82
1. In case of scuffle among contestants / Uﬁm & d ETUIUI% & A H
2. In case of booth capture / Y h ool E?fe[ &I Rufa o

3. If nominated candidate belonging to a recognised party dies at any time after the last date of

nomination / afc; fordt ATIAT U UTeT T AT IFIGIR & A ot 3ifaw fafy & a1
foraft ot Tg gog B St ]

4, If a new party joins the contest / 3R ﬁ's‘ :l_scqﬁﬂ:l'l_q’ F’l@ef ﬁ'-‘Z'IT&I?TEﬂFﬁ %I

Correct Answer :-

« If nominated candidate belonging to a recognised party dies at any time after the last date of

nomination / A& fdft Aradt U urdf & Tifia Seficar &t Amie @ sifad fafy & a1
foraft ot g g B St B




A Social Science teacher has developed an objective type test but she has a doubt about the
reliability of the test. What should be done to ensure the reliability of this test? / U ATHINIS
g Rigrd 7 T _gE TR @1 uien 399 31 3, Afp 37 when o Ryaar w @g 313w
qdterur ot fasRr-gar gffea e & fore wan far s anfke?

1. Cut short the length of the test / TRIefor ﬁ?ﬁﬂ'&t HH DB

2. Increase the number of questions / Uil &1 T&HT dGIT

3. Try for test retest method / GR1&01-G1:GR1&r07 fafy &1 vy

4. Divide the test into two halves / TRI&0T &1 & fgegi # faHTord &<

Correct Answer :-

« Try for test retest method / URI&UI-G-URT&01 fafY &1 oraame

7) In which year did India face the Chinese aggression? / g af o yra A < smepHT
1 |1 b

1. 1955
2. 1964
3. 1962
4, 1965

Correct Answer :-

e 1962

8) Who acts as a link between the Council of Ministers on the one hand and the President as

well as the Parliament on the other? / T 3R HAURwg 3R W'\Pf 3R FHE & ATY-ITY
APl & S TP B! & FU J B SR T o7

1. Vice-President /G'CITIE"T%

2. Prime Minister / GUTTHAT
3. Cabinet Secretary / Ffae gfag
4, Parliamentary Secretary / T9dIg fd

Correct Answer :-

« Prime Minister / UUTTHA]

9) Who among the following is considered to be an architect of modern Social Science? /

fFrafafaa o 3 53 snyfe arfome fagm &1 ageR 7T ST 82



1. Auguste Comte / 3R B
2. James High/@'&“[glé

3. Emile Durkheim / gHIgd @"@ﬂ:ﬁ[
4. Charles Beard / IT& g8

Correct Answer :-

« Emile Durkheim / SHTSd g@H

10) Who was not part of ‘Navaratna’ of Akbar? / {hdxX & 'R’ BT g GaC) 81 U1?
1. Birbal / SR

2. Raja Todar Mal / X T 7

3. Raja Bhara Mal / XTSIl HIR HcT
4. Tansen / A9

Correct Answer :-

 Raja Bhara Mal / XTSIl HR HT

11) Who used to be the chairman of Planning Commission? / GISET 3TN & ST & CaC|

I 82

1. Comptroller and Auditor General / IEUECAEIN IIB]@@T PRAED
2. Commerce Minister / Gl REE]

3. Prime Minister / TYTTHAT

4. Finance Minister / IERRIE]

Correct Answer :-

e Prime Minister / TYTHT

12) Who developed Sociometry as a technique for assessing relationships among members in
a social group? / TP IATHIRIS TUE A TGl & a1 Haell BT THa- HA & ¢ TP ap-i1db &
w0 # foraa guraifafa o1 faer fear?

1. J.L. Moreno /@[.QFT. ARA
2. Max Weber / B dsR

3. Henry Murray / gl Eﬁ

4. John V. Michael / 519 91, Alg®HA



Correct Answer :-

e J.L. Moreno /@[.Q?T. ARA

13) Akal Takht in Harmandir Sahib was built by: / ghafy wifee A srerer dysd &1
Frutor i g e war

1. Guru Nanak / 7[® [

2. Guru Angad / 7% 3{7Tq

3. Guru Hargovind / [® Mﬁ?{
4. Guru Govind / [® Tidg

Correct Answer :-

+ Guru Hargovind / {[® FUIEE

14) is the quantity of all goods of imports and exports in a year by a country. /

U 3T gRT TS 99 A 3mard 3R Hafa & 9 |l &t e g1

1. Tariffs / URJeh
2. Volume of trade / TR GRHTUT

3. Quotas / PicT
4. Embargo / HTUR-UfARIY

Correct Answer :-

« Volume of trade / STUR UIRHTOT

15) implies severe indictment of the government though it does not require
resignation of the Council of Ministers. / T aread HIDPR & TR 3 'J-Q'R-'T‘TUT ﬁ' %,

gTanife sua g wfafvug & it #1 srazgsar 781 ¢
1. Cut Motion / Feld! UdTd

2. No - Confidence Motion / 3{fd4T UTd

3. Adjournment Motion / ARG ES|C)

4, Censure Motion / IGEARESIC

Correct Answer :-

« Censure Motion / =1 U@



16) society feels concerned about meeting the needs of all its members. /

T 3T G} Hew Y ol &) WA F a1 § Riarha war g
1. Egalitarian / FHFIIGRATG!

2. Elitist / GHidardl

3. Class Oriented / I 34

4. Sectarian / QIUGIA®

Correct Answer :-

« Egalitarian / GHMIYHRATE!

17) is a process of increasing knowledge, skills and capacities of the people of the

country. / T S AN P T DI 3R AT B) I¢M B TP Ufehar 2|
1. Human resources / HATId JATYT

2. Human Capital Formation / HIFd U‘_\\_Xﬂ o

3. Physical capital formation / aifde Trﬂ fAfor

4, Capital formation / q\Gﬂ o

Correct Answer :-

« Human Capital Formation / HI1d Q\Gﬂ ffor

18) The Rig Veda samhita denotes one-fourth of its hymns to : / Fide dfgar o m Uh-

NYTS Yol B g fore g=ifar mar @:
1. Agni / 3114

2. Indra / 3%

3. Rudra / ¥%

4. Marut / HI®d

Correct Answer :-

e Indra/ 3_9("

19) The matters or subjects of common interest to both the Union Government as well as
State Government are included in list/ HG AIBR 3R I WPR ?;17'ﬁ & ﬁl"’{
= fed &\ O fawg T ® wfa gid 71

1. Concurrent / Q:I'qa?ﬁ



2. Union / 99

3. State / ¥Y

4, Uniform / ThJHIH

Correct Answer :-

o Concurrent / Fﬂﬂ?ﬁ

20) The government of India established to coordinate the activities of all
institutions involved in the rural financing system. / HRd URPR = yrtor fos sgawiT o
wfie vt S @t nfafafir & v-aa & forg B T HL 2

1. National Board of Agriculture and Rural Development / ?TgTq ?fﬁf 3R T fawra s

2. National Board of Agronomy and Rural Development / QT@H ?ﬁf fasm= 3R T faer s
3. National Bank for Agriculture and Rural Development / TI'gTq W 3R Ui Ay o

4. National Bank for Agriculture Reconstruction Development / ?Tgﬂ'q ?ﬁf Q:TEWTUT famr 9

Correct Answer :-

» National Bank for Agriculture and Rural Development / T@H w 3R T famr o

21) The song Vande Mataram was first published in which text in 1882. / a%, HIAYH M

Ugdl 91R 1882 H {5 Saavr § UHTiRId gai o
1. Anandamath / 3¢ T3

2. None of the above / dW:J:GId a3 Ob\l‘.ir T8l
3. Gitanjali / TfTqToTfel
4, Gita Rahasya / T RREY

Correct Answer :-

« Anandamath / 3F¢ H8

22) The method of learning in which the students are given an open question and they design
investigation methods to arrive at conclusion is known as: / rE= @t fafd foraw ol & v
sifafofa wsr far wimar 8 8w 3 R wR ug=M & fore o faftra ) fewmga #=a €1 siftr St 59
Usfd B & U H SHT 141 ¢ |

1. Conformation inquiry / fa&qor Sra
2. Guided inquiry / Fc R St

3. Open inquiry / et EIE]



4. Structured inquiry / RNERRCIE]

Correct Answer :-

+ Guided inquiry / BERGKSIES

23) The main tenets of Mahatma Gandhi’s basic education is: /mﬂiﬂﬂﬂﬁﬁﬁ?ﬁmﬂ Ca|
7 i g

1. Education should develop a strong man / Ri&f & Ueh Heigd T &1 f[dbrg SH=1 AT
2. Education should be self-supportive / e sraAfaRR g =nfeul

3. Education should be based on cultural and social heritage of the Land / TRT&fT & bl WW

3R T faRmad oR 3nenid gt =l
4. Education should be activity-centered /ﬁT&ﬂ Tlﬁlﬁﬁf—ma:ﬁﬁr%ql

Correct Answer :-

« Education should be self-supportive / FRI&T sreafR - =nfgu)

24) The process of hiring an outside contractor, especially from foreign countries, to perform

their work is termed as /ﬁ'@'ﬂﬂﬁﬁ%ﬁﬁﬁﬁwmmﬁﬁw
W?W,W%Wﬁﬁwﬁammw & &9 | gRyTfYa ot
STl 81

1. Outer Space financing / dTgl ®Ic] faaryor
2. Overseas financing / faGRN faxameor

3. Outstation sourcing / STgI R T
4, Outsourcing /EI'%:@?FT

Correct Answer :-

» Outsourcing /EI'%:@?F[

25) Which one of the following is not a characteristic of evaluation? /Fafafeadd
i 1 U fa=ivar 781 82

1. It implies a systematic progress / THDI I T afRyd Wi 9 3|
2. It is a continuous process. / g T Hdd Ufshal gl

3. It always assumes that educational objectives have previously been identified and defined. / dg

GHSI A STl § b Qferep 5=l b1 ygel Ug= 3R uRHIf febarr T g |
4. It does not give emphasis to personality changes. / I8 fddd gfkad IR oIk T8 ST ]|



Correct Answer :-

« It does not give emphasis to personality changes. / I8 fddd gRkad IR OIR T8 ST ]|
26) Which statement about Kabir is correct? / @SR & ¥ & DI AT HYT w %?
i. Kabir Das was disciple of Ramananda. / AR G MG & FRrsg

ii. Kabir belonged to the Muslim weaver family. / FAR Em gadd gRarR ¥ 4

iii. Kabir believed God is one and people just worship him with different names. / PAR BT

HIFAT AT 5 9% T & 3R @1 a9 I fafdre = @ o B
1. All are correct / T§ Q! §

2. Only ii / / had ii

3. Only iii // pdd iii

4. Onlyi/Hddi

Correct Answer :-

o All are correct / Jd ﬂ%sf %

27) Which of the earthquake wave travels fastest? / f&< Q;I?F”ﬂ'q T B e 9 T
gl g2

1. P-Waves / -]

2. S-Waves / W—ﬁ?ﬁ
3. L-Waves / Tdl-a<3]
4. T —waves / Cl-a|

Correct Answer :-

o P-Waves/ tﬁ-T‘ITPf

28) Which programme of the Government of India promises to extend livelihood security to
the rural households by providing one hundred days of guaranteed wage employment in
every financial year to every household? / HRd UXPIR BT DI 9T PTUHH TWWAR
forfta o # T 9t 371 1 TRE arer AR YeH FP urHior aRaR] $1 sreiifaeT
UR&IT ¢ BT aTeT el 82

1. Jawahar Rozgar Yojana (JRY) / STATER JASHIR TISHT (S1.3MR.IT8)
2. Sampoorna Gramin Rozgar Yojana (SGRY) / W‘/Tﬂﬂm ISR ST (Q?{.Gﬂ.am.aﬁ)




3. Integrated Rural Development Programme (IRDP) / Qa'ﬁ% 0T fah T Hrdshy

(313, 3R.S.Uh

4. The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / HeldHT el

RIS ATHIOT ASATR TTRET ST (R
Correct Answer :-

« The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / HeldHT el

RIS ATHIOT ASATR TTRET ST (R

29) Which is miniature of the parliament of India at the grassroots level? / H&AHd TR UX
YRT B TG BT Y =T T 8?2

1. Gram Panchayat / 919 URId
2. Gram Sabha / TH IHI

3. Block Panchayat / CSICRCEIRG
4, Zilla Parishad / forar uftug

Correct Answer :-

o Gram Sabha / UTH YT

30) Which among the following is not function of Central Bank of India? / fafafaad g
T Avd 3 TP e &1 St 761 872
1. Custodian of foreign reserves / faa=h ol SR &1 HfIREH

2. Operation of Direct Benefit Scheme to the rural poor / grHtor TR & foTT T e <y s BT
BEISE

3. Bankers bank / CERUCAKCE
4, Controller of credit / 2BUI (m) CANEUEE

Correct Answer :-

« Operation of Direct Benefit Scheme to the rural poor / o RIS o o T e Ay aiern 1

31) Which among the following countries typically follows a free market economic system? /

Frafafead i & @ Si9-91 =1, o IR e wommedt &1 SR a1 82

1. Cuba / &dI
2. South Africa / <l it

3. China / G|



4. USA / Tgad ST ERIPT

Correct Answer :-

. USA / Igdd Iy 3ERT

32) Which mass based organization’s initiative led to the passage of Right to Information

Act?/ggﬁmmafweﬁrﬁmmhamﬁ%mmaﬁ%a?mﬂﬁaWﬁ
Ued §%?

1. National Campaign for Human Rights Initiative / AHATIHR Ugd o forg ?T@'q 3R
2. Great Legalisation Movement India / Hgl iR e HRd

3. Mazdoor Kisan Shakti Sangathan / HolgX T wrfaa e

4, Self — Respect Movement / Id-HJHI 3figia

Correct Answer :-

« Mazdoor Kisan Shakti Sangathan / TSGR o Rifad e

33) Which Commission was appointed by the Government of India to bring changes in
secondary education system to make it better for the nation?

/ HIRd WP gRT {6 H STaIT 1 Y & forg dgar 91 8 Areafie fRigm yormedt #
e a1 & fore e fean an?

1. Mudaliar / GaTTCIAR

2. Srikrishna / S SOM
3. Ramaswamy / JHRATHT

4. Kothari / AR

Correct Answer :-

« Mudaliar / &TICRIR

34) How much time difference is there between two longitudes? / 3 SR & ot fpaen
Y 3R i1 8?2

1.2 min /2 fHE
2. 12 min/ 12 fiFE
3. 8 min / 8 fBFIC
4. 4 min / 4 AT



Correct Answer :-

« 4min/4 e

35) How many ‘subjects’ have been assigned to Local Governments through Constitutional

Amendments? / HAUTIS TRNUA & ATEHH | RITI IRGRI $i fhax v @i &
1. 10
2.19
3.39

4. 29

Correct Answer :-

« 29

36) Which of the following is an outcome of pragmatic school of philosophy? / fafafaad CaL

SRR & ATIERYAS faeTad o1 T UiRund 8: -
1. Project method / RS (En@ﬁﬁ') fafer
2. Discussion / TR==f

3. Team teaching / €Y fR7&f0r
4. Source method / JTd fafer

Correct Answer :-

e Project method / iAo (Uoide) fafdr

37) Which diagrammatic representation would you like to choose to show Proportionate Allotment

of National Income to different categories? / fafirsr Sforai o TI'@T[ AT & Gﬂﬂmﬁﬂ? 3Tde &I
faam™ & ferg ey fore syt f=egor &t g1 Argie

1. Flow diagram / Ydlg I ERC|
2. Time Lime diagram / CISH lIgH 3T

3. Bar diagram / IR 3G
4, Pie diagram / TS 3R

Correct Answer :-

o Pie diagram / m‘s‘ 3N

38) The National Curriculum Framework, 2005 insists that Social Sciences must link child’s life at

school with: / BT UTSTTTT P1 TUNEI, 2005 3 I1d WX IR gl & [ e & wrATfore fagm



@I g & Sitaq I 9 gRT St T -

1. Real life outside the classroom / BT P STER BT ARATAD Sia-T
2. Life inside the classroom / H&T & HiR Siia

3. Textbooks in the classroom / &[T H tI'I—o=€|%$

4. Teacher's expectation / fRr&id 31 3den

Correct Answer :-

¢ Real life outside the classroom / D ET & IR CESICEASICE

39) The Aihole Inscription is ascribed to which of the following rulers? / FFrafafad wmael A

¥ forad gRT Ueia Rrarera fofaa art ot g2
1. Kharvela / @Rdd

2. Bimbisara / fSfieER

3. Rudradaman / S&GIHA

4. Pulkeshin Il /W@?ﬁq

Correct Answer :-

« Pulkeshin II /W@?ﬁq

40) Which of the following is a plantation crop? / fRufif@d # ¥ H19-3d T geRIvv Baa
&

1. Sugarcane /Tl
2. Cashew nut / PI]

3. Cotton / ©UNH

4. Red Chili / o< fo<f

Correct Answer :-

+ Cashew nut / dI]

41) Criterion-referenced evaluation refers to: / ATFGS-gIid eITdH BT aTead
gl

1. Evaluation based on a set of predetermined criteria / Ujﬁﬂ Rd AFcSi & Th Jc P YR R
HeATh HRAT

2. Evaluation conducted without any arbitrary norms / fa&t ft 90 AFEST & Jedidh o foT
ST BT



3. Evaluation carried out after conducting pilot test / TRN URI&U1 HRA &b &G Yeich1 BT

4, Evaluation administered as post-test mechanism / eI & dTG GRIE0 o3 o =0 H TR HAT

Correct Answer :-

« Evaluation based on a set of predetermined criteria / qﬁﬁfﬂfﬁﬁ qHcS! & U AT & YR WX
T HAT

42) In collaboration with an organization in which among the following countries, the
Ministry of Earth Science has launched ‘Project Varsamana’ as a cornerstone of the Indian
meteorological department modernization programme? / T% JT6H & Tga ¥ Faferad
20 A | fraw, gedt fagm wamera A uRd wWiw Ay snyfRaieor sriea 3t snurien &
9 ¥ ‘Hioiae qaia=T YR f6ar g2

1. France / W19

2. Russia / &Y

3. USA / 3T
4, Germany / \_Ilﬁ

Correct Answer :-

« France /I

43) CANCELLED

Which of the following is the narrowest strait of the world? / m ﬁ' @' aﬁq ﬁ §ﬁ'€|T aﬁ
Y 10 STasHEH (SIaHiY) 82

1. Strait of Dardanelles / GlGieal STy
2. Foveaux Strait / Il STy

3. Bab-el-Mandeb / dld 3{c] A<d
4, Strait of Tartar / ARSI )

Correct Answer :-

« Strait of Tartar / T 1 ST
44) CANCELLED

Which one of the following is not included as a function of summative evaluation? / Frafafea

T DI IS Teip & d1d & 0 o e T8 82
1. Promoting / A8

2. Selecting / TTMT HRAT



3. Discriminating / faNGHRI
4. Crediting / 99 &1

Correct Answer :-
. Discriminating/%ﬂm
45) CANCELLED

Which one of the following is not a characteristic of critical thinking skills? [Fafafead
w1 fade g SIva ot T faivar =8 82

1. Being time consuming and laborious / 3if¢ie ¥Hg &= aTaTl 3R afveft g
2. Being resourceful and creative / J14= U 3R TIIHSD BT

3. Being systematic and deductive / SHaRId 3R faaer® g

4. Being reasonable and rational / Jiferd 3R IHTT BT

Correct Answer :-

« Being time consuming and laborious / 31f¥i& ¥Hg T+ araT 3R ufveft g
46) CANCELLED

The industry which produces machine tools which are, in turn, used for producing other

goods for consumption purpose. / a"s'sahx‘:ﬁmﬂ'—ﬁ SNSTRY mmm%, S gl
H, ST & IL=T A 3= TSN T ST P & (o1 IUFRT {5 o1 &1

1. Fiscal goods / XTSI IT HIeT

2. Capital goods / E\Fﬂ"'lﬁqla
3. Consumer goods / SOHIaT d%gQ

4. Perishable goods / WRTd I Tl HIdT

Correct Answer :-

47) CANCELLED

Who translated Ramayana and Mahabharata from original to Oria language? / {cl |

NS YT H ITT SR WETHRE T 3igaTe foam farar?
1. Fakir Mohan / &R IhE:I
2. Madhusudan Rao / HYa Xd

3. Radha Nath Ray / XTHT ATy R



4. Lakshmi Nath Bezbarua / a&%ﬁ Y SO 3HT

Correct Answer :-

« Fakir Mohan / BHR Ing:f

48) CANCELLED

The cold layer extending up to the ocean floor is called? / HH% dcl dPb Pell 38 wa Bt
HIT T SITaT 82

1. None of the above / dl-lf:IokI =i cr>\|$r=|'6°f
2. Epilimnion layer / wfofermfAoe wa

3. Thermocline layer / Uﬁ]ﬁﬂ'l?ﬂ Od

4, Hypolimnion layer / E'I_{lm%‘ltlﬁ'q:f Wd

Correct Answer :-

» Hypolimnion layer / ‘s'rgtm%mﬁm Ud

49) CANCELLED

Match the following:

1. Din-i-Ilahi A Abul Fazl
2. Fam Charit Manas | B. Tulsi Das
3. Ain-i-Akban C. Babur

4. Tazuk-I Babar D. Akbar

[ feFafeif@d =1 f@ere:

1. EId-T-Selipt A 37 Balel
2. IH 9Rd AE | B. gerdl g
3. Ue-U-Hahall C. e
4 dedh-w-a@ell | D. 3P

1. 1-A,2-B,3-A4-C
2. 1-D,2-A,3-B,4-C
3. 1-B,2-C,3-D4-A
4, 1-C,2-A,3-B,4-D

Correct Answer :-



« 1-A,2-B,3-A4-C

50) Continuous and Comprehensive Evaluation has transformed the evaluation system as: /

Tad 3R TS Gedich=1 A Geaid HoIe! &t & ®U § wuiaia $R fear 3|
1. More complex by incorporating too many details / §gd IR faaR0ll &1 qMAA B 3R 31ferw wifed
2. More comprehensive for scholastic areas only / &ad Qe & & forg sifdies g

3. Vague as exact rank of the student cannot be found out / 3RITY, Fifh SH & TP Yo BT T e
T S 9l §

4. More reflective of the entire personality of a student / T% S & qﬁwﬁaa & fava o siftre
Correct Answer :-

« More reflective of the entire personality of a student / T B & {Ufm & fawg o et

51) The chalcolithic site Inamgaon of ancient India belongs to which of the following states?

/m?aﬁﬁmwﬁmmﬂmwmmﬁ%mm
Halﬁa ?

1. Maharashtra / IIE'RTg
2. Rajasthan / XTSI

3. Karnataka / W
4. Gujarat / 7[SIRId

Correct Answer :-

o Maharashtra / n‘s”mg

52) In which of the following session of the Indian National Congress the resolutions on
Fundamental Rights and National Economic Policy were passed? / YRA ?TE:W CapRa kg

7 # 9 fra w7 ¥ diftre siftreR ok g anfdfe fifa W doer uia fd e
1. Faizpur,1936 / oTUR, 1936

2. Lahore, 1929 / TR, 1929

3. Karachi,1931 / I, 1931

4. Belgaum, 1934 / §CI7TH, 1934

Correct Answer :-

« Karachi, 1931 / B, 1931



53) The first mass movement against British India was : / fafexr W%WWW GI'IE-']FFI YT:
1. Non-Cooperative movement/ﬁ?—ﬂﬁm i

2. Swadeshi Movement / XSGR 3figia

3. Quit India movement / lﬂ?ﬂ?ﬁ@ﬁ figra

4. Khilafat Movement / RedTthd 3figia

Correct Answer :-

« Swadeshi Movement / &gt sfigia

54) Margosa oil is obtained from which of the following trees? / AR da Fefafea 7 9
fra s A urd gar 8?2

1. Ficus / TIgh g

2. Babul / 9c1
3. Neem / Gt

4. Bamboo / 919

Correct Answer :-

. Neem/:ﬁ'q

55) Which among the following is the World’s largest Wetland System?

/ Frafafea & 3 o9 @ iy 3t 999 871 srsyfH yomedt deds Rivew) 772
1. Everglades (USA) / TaRTIS ¥ (JUIN)

2. Okavango (Botswana) / 3TN ( SIeIdT)

3. Pantanal (South America) / T=I-TcITdl (GI&T0T 3fARE)

4. Camargue (France) / HIT (1)

Correct Answer :-

« Pantanal (South America) / U=d-TcITdl (GI&M0T &Iﬁﬁ’_ch—f)

56) Scientific study of soil is known as which of the following / frafafead Hal b1
A 37T AT HaATT 82

1. Soilology / ﬂmﬁﬁﬁ
2. Pedagogy / USiol



3. Pedology / USIdlait
4. Ontology / 3ficiarsh

Correct Answer :-

« Pedology / USTQrSIt

57) Greenland comes under which of the following Jurisdiction? / ‘Jﬂ*la'g, fafafaad g

frae sifirer-a= # omdr8?
1. Danish / STIRI

2. Norwegian / 10 fo

3, US / 3MR®T

4, Dutch / sd

Correct Answer :-

o Danish / gﬁ‘\’l

58) Which year was ‘Project Tiger’ launched in India? / WRd H fohd 4 # ‘Wviee egTR’
SRR foaT T U2

1. 1973
2. 1974
3. 1971

4, 1972

Correct Answer :-
« 1973

59) Who succeeded Shivaji Maharaj as the Maratha king? / HXTST XTSIl & ¥u ¥ Rameit

HERTS BT ITRIUSR P §1?
1. Shahji / ITgsH
2. Shahuji I / RITgSit I

3. Rajaram I / XISIRTH T
4. Sambhaji Bhosle / FHTSI HIGel

Correct Answer :-

. Sambhaji Bhosle / FHTST HRTct



60) Social Learning theory was introduced by: / IS IR Rigia & g7 U foman
g1 UTl

1. Sigmund Freud / RATHE thigs
2. Carl Jung / &Tel G

3. Carl C. Rogers / BTd T, IS
4. Albert Bandura / 3c9¢ §igl

Correct Answer :-

« Albert Bandura / 3{cdc SgI



